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1. “The total amount of energy in the universe remains constant”, represents-
(A) First law of thermodynamics
(B) Second law of thermodynamics
(C) BothA &B
(D) None of the above
FEIvs H Holl I Hof A1 ReR & & 1 Wad HaT & |
(31) SN & U2H FgH Bl
@) Serfae & fgda s a1
(d) 31 Td q qFl Bl
() SWRIFd H ¥ BIg el

2. Which of the following is not energy carrier in a cell?

(A) ATP (B) Creatine phosphate
(C) GTP (D) Flavo proteins
o & 1 U PIRGT H ol BT Fagd T8l 50
(31) ATP @) foufed wivwe
(|) GTP (@) UeldmcH
3.  Diameter of DNA is about-
(A) 24 A° (B) 20 A°
(C) 34 A° (D) 30 A°
DNA & 19 2 9T |
@) 24 A° @) 20A°
() 34 A° () 30A°

4.  Disulphide bonds are formed between-
(A) Cysteine residues that are close together
(B) Cystyne residues that are close together
(C) Proline residues that are close together

(D) Histidine residues that are close together

TS Iohlgs g+ fhad 7 99d o—
(31) ey RIS orugell & #ed
@ e RieEA IRl & w7
(@) e Uieid el & #ed

(@) e REISH IRl & Ay

[Botany (011)] Page 2 of 12



5. Who stated that cell is a basic unit of all plants?

(A) Swanson (B) Schwann
(C) Virchow (D) Schleiden
fop=a= BT o fo WY UTaUf B MR ShTE PIRHT B |
@ e A @ w@EA
(@) fox=ta A (&) weired
6. Ineukaryotes which of the following is not found?
(A) Mesosome (B) Nucleus
(C) Ribosome (D) Plastid
Fifhd H A DI A1 PRGN AdHbsdb H T8 YR Sl &7
(1) ¥rArE™ @) @=d
(@) SrEdrEm (%) <%
7.  Rod-shaped chromosome is called-
(A) Metacentric (B) Telocentric
(C) Acrocentric (D) Bacillus
SUSTBR ORI Bl & |
(@) werfg® (@ <ramfee
(@) wprtg® (@) <o
8.  Puffs (Balbiani rings) are associated with the synthesis of -
(A) Starch (B) Lipids
(C) Polysaccharides (D) MRNA T Proteins
T% (JTAFIATT Bool) fhad HINoT A TR € |
(@1 == @) @
() dfell dAprssd (&) MRNA qT 9ici=
9.  ‘One gene one enzyme’ concept was given by-
(A) Lederberg & Tatum (B) Zinder and Lederberg
(C) Beadle & Tatum (D) Kornberg & Tatum
UH SIF U TwirsH Rigra feas gfaofed faar |
(31) ofeved g Sfed A @) RT=x T oexa T A
(@) drsat QT <ied () IHa qAT TleH
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10. Chain initiation codon is-

(A) UGA (B) AUG

(C) GUG (D) AUG & GUG

AT YR FE T |

@) UGA @) AUG

(| GUG (§) AUG & GUG
11. DNA generally acts as a template for the synthesis of-

(A) Only protein (B) Only DNA

(C) Only RNA (D) Both DNA & RNA

DNA \HIL......... B T & fordl el (AT BT dRE BRI HRAT B |

@) Pad UEH (@ @ad DNA

() ®da RNA (@) DNA TG RNA <Hi
12. Transcription occurs in presence of-

(A) DNA polymerase I (B) DNA polymerase II

(C) RNA polymerase (D) DNA polymerase III

SgeRae el wuRefy B 2|

(31) DNA dieime I (@ DNA dfeime II

(d) RNA Gfeii (@) DNA tufelmRe 11l
13. A Hormone or Ligand can be considered as-

(A) First messenger (B) Second messenger

(C) BothA & B (D) None of these

TP BRAM AT forive &7 A7 ST AHhT 2 |

(@1) wufie AR (@) fedae da~R

(M) AUIB M @) =TH ¥ @3 el

14.  Which property of p53 enables it to prevent the development of cancer?
(A) P 53 is a transcription factor that causes production of proteins that stimulate the
cells cycle.
(B) P 53 prevents the replication of cells with damaged DNA
(C) P 53 prevents cells from triggering apoptosis
(D) P 53 stimulates synthesis of DNA repair enzyme that replace telomere sequence lost

during cell division
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15.

16.

17.

18.

P 53 @) ST ORA S DR B ABNT BT A H A 7T 2 |
(3) P53 U Aeld HRS © Sl PIRIGT gh Pl URT B alel YIS & IaT&T Bl

HROT 2 |

P 53 &ftRd S1.UA.Y Jad BRI & 3T Bl b 2 |

P 53 BIRBT H JAUMCIT & URVT Bl eball & |

P 53 $1.UA.Y &0 IR Tols¥ & AU & YR HRAT 2, AT HIRTST e &
SRM o AR 3THH B YT el 7 |

Antibodies are produced by-

4 &

G)

(A) Leucocytes (B) Lymphocytes

(C) Monocytes (D) Spleen

gfeRefierl I~ Il ¢ |

@) wId BfR HIRERN | @ forp ®IfdreRl |
([) A AEed | @) foeeh &
Aflatoxins are produced by-

(A) Bacteria (B) Fungi

(C) Viruses (D) Nematodes
SfeTeifa S 8Id & |

(1) SiaTy | @) Pad A

(%) fasrg & (@) ofHara

How many nuclei are present in fully developed male gametophyte of flowering plant?
A) 1 (B) 2

€ 3 (D) 4

g 91ed & gof el R e # foat d=a 8 &7
(&) @ 2

%) 3 (%) 4

Embryo sac is-

(A) Megaspore mother cell (B) Female gametophyte
(C) Mega sporangium (D) Microsporangium
T DI 2 |

(31) AT AT DHIfRAehT (@) HET gHGIGME
(®) T e (%) gy O
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19.

20.

21.

22.

23.

Gloriosa superba is a good example of-

(A) Heterostyly (B) Cleistogamy

(C) Self sterility (D) Herkogamy

Gloriosa superba Ud 3BT IEIEX B |

(31) fawy affera @) T R

(|) @ degan @) <@ = SHAfeiRar
Non endospermic seeds are-

(A) Pea & castor (B) Pea & Maize

(C) Maize & castor (D) None of these

3o T 2 |

(31) HexX dT IRTS (@) Hex dqAT HdhT

() AFHI TAT 3RV (@) S8 9 PIs Aol
Exudation is due to-

(A) Osmetic pressure (B) Root pressure

(C) Diffusion pressure (D) Transpiration pull
3901 BT 7 |

(31) RV G & BRI @) ¥ @ D BRO

(@) fIeR @ & BRI () dwIESH HU & HROT
Which colour of light gives maximum absorption peak by chlorophyll ‘a’?
(A) Yellow (B) Red

(C) Blue (D) Green

FATRIE T ERT {5 [T & UdTer | Iaad Saenyol fRaR yred gRTT?
(@1) dretm @) et

(@) e @ =

The process in which excess energy is lost by light waves is called-

(A) Fluorescence (B) Photo phosphorylation
(C) Photolysis (D) Photo oxidation

o ufsrar # aifaRad ot uarer a8 & w9 § dE) Med SRl g, S8 © |
CIREIGEIES] @) YPRTT BRBIRGIT

(F) YT U (@) UFsrRIUYgIA
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24.

25.

26.

27.

28.

Lactic acid fermentation is characterised by lack of production of-

(A) ATP (B) NADH,

(C) CO, (D) CO, & NADH,

........ HT IATEA T8l BFT oifded el fvsas &1 uehRfq &var 2|

(@) ATP (d) NADH,

(&) CO, () CO, & NADH,
Naturally occurring growth inhibitor is-

(A) NAA (B) GA;

(C) ABA (D) 1IAA

UTRfd ®Y W UrT ST 9Ter gig FREe 2

@) NAA @) GA;

(|) ABA (T IAA

Alleles are-

(A) Homologous (B) Linked genes

(C) Dominant genes (D) Alternate forms of genes
REIC

(31) ST PR @) e S

() YW S (@) dABfeud THR B S
One complete set of chromosomes inherited as a unit from one parent is known as-
(A) Genotype (B) Genome

(C) Gene pool (D) Karyotype

TP TS §RT, U Sdhlg & ©U H G B aTell ORIAT BT T8 Pl 3 |
(@7) Siirersy (@) ™

(@) S g (@) @RarerEy

Datura is a classical example of-

(A) Trisomic (B) Triploid

(C) Monosomic (D) Monoploid

TR Th IhHE SETER ¥ |

(@) TR P @ Frgfrar @

(@) T gAT BT (%) T B
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29. De-Varies proposed-
(A) Theory of spontaneous generation
(B) Theory of mutation
(C) Theory of natural selection
(D) Theory of speciation
SI. 91 9 gfauried |
(@) wd: S b1 RigT
@ SaRed o1 e
(d) wrepfde oo BT RigT
(@) ifd Sg9ad &1 Rigr

30. Who coined the term systematic?

(A) Huxley (B) Linnaeus
(C) Darwin (D) Lamarck
RyecHafea wre foaq faar?
(31) Tau @ <hfas
@) =SIfad @) <D
31. Taxon refers to-
(A) Species (B) Genus
(C) Family (D) Group of any rank
TR | T 2 |
(@) <mfa = @ do
(@) B W (@) T A B & A8 9
32. Four sepals K4 or (2 + 2) is the characteristic feature of the family?
(A) Solanaceae (B) Malvaceae
(C) Papilionaceae (D) Brassicaceae
IR IrIed K4 a1 (2 + 2) {68 |t &1 Af9anefors Jor 57
@) et (@) HATeTaRdt
(@) udferam=a GIERIER
33. This plant is also known as ‘flame of forest’-
(A) Butea monosperma (B) Salvia
(C) Abras (D) Crotalaria juncea
TE UIGY ‘ST B STl @ A8 | A SIH1 STl 2 |
(31) Butea monosperma (@) Salvia
(d) Abras () Crotalaria juncea
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34. Who placed Gymnosperms in between Angiosperms-

(A) Linnaeus (B) Hutchinson
(C) Bentham & Hooker (D) Bessey
JAGATSIAT & /e TGSl bl fhasT T |
(31) e =1 @) BT A
(%) dverq eI gahx | @) 994
35. Which water is available to plants?
(A) Gravitational (B) Capillary
(C) Hygroscopic (D) Combined
ureul & ford Sude 9T T |
(@) T @ DR
(@) Smcanm (]) wga
36. The total interacting animals and plants in any well defined area is known as-
(A) Biosphere (B) Biome
(C) Community (D) Ecosystem
frdt e &= H Rera uofl vd amufes Sd @1 fdl A& el & |
@ StaHvsa @) 9raH
@) wge™ @) uRRefds dx
37. Pyramid of energy in a pond ecosystem is always-
(A) Inverted (B) Upright only
(C) TIrregular (D) Linear
drerd aRRerfat 3 &1 Soft &1 fRifire g1 2 ¥3a |
(@1) Sefer (@) rer
@) srfrafaa @) xdm™
38. The organisms which live in the bottom of lake are called-
(A) Phytoplankton (B) Zooplankton
(C) Nekton (D) Benthos
i & Tt H I8 dTel Sfld e & |
(31) UreUTaD @) wviTadn
(@) dRUTH (@) fdc®
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39.

Unit for natural selection is-

(A) Species (B) Family
(C) Population (D) Person
URfId T @ IHTS 2 |
(&7) ey (@ dwRar
(@) ST (@) =fh
40. The branch of science in which fossils are being studied-
(A) Herpetology (B) Palentology
(C) Paliogeography (D) Entomology
s @ 98 omrar frad SiaTsHl &1 st fdhar Sram 2 |
(1) =YleratSl | @) Yer<raton |
(A) uferarsiarmsT | (@) v |
41. Mutation is the change is-
(A) Gene frequency
(B) Base pairs in DNA molecule
(C) Genetic drift
(D) Environmental mechanism of evolution
SURads aRadd g |
(31) i+ smgfeT +
@) <SITAY A H AR g H
@) SHfed fgue
@) Sfgem o vgiarefig fhafafe
42. Lederberg replica experiment is related to-
(A) Adaptation (B) Variations
(C) Mutation (D) Evidence of evolution
oresxat Reefiar yanT =T 2|
(31) o | @ faf=aet |
@) SwRqdad | @) Sfger @& yamor |
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43.

44.

45.

46.

47.

The concentration of pesticide required to destroy 50% of pest is called-

(A) LC50 (B) LE S0

(C) LDS50 (D) LB 50

GSHAT B I8 AGdl i 50% GISH B Bl T B B ol NMAWDH T HEA ¢ |
@) LC50 (&) LES50

(@) LDS50 () LB50

Which of the following is pair of bio fertilizers?

(A) Azolla & BGA (B) Nostoc & legume

(C) Rhizobium & grasses (D) Salmonella & E. coli

A # & ST I S SARS B |

CIRSISIEIICIRSIAY (@) <RET® derm <vgH

(@) rSSNfe™ qr a9 () SATHINAT TAT 3. Bleil.

Specific gene transfer in plants is mostly done with-

(A) Bacillus radicicola (B) Agrobacterium tumefaciens

(C) Pseudomonas denitrificans (D) Bacillus megaterium

gTeul # SiF TR Ed: fhar ST 2

(31) Bacillus radicicola @& ¥ref (@ Agrobacterium tumefaciens @ T

(d) Pseudomonas denitrificans® 11 () Bacillus megaterium @& 1T

Golden rice is transgenic rice rich in-

(A) Vitamin B & iron (B) Vitamin A & iron

(C) Vitamin A & Vitamin B (D) Iron

GBI AT WRTSIh @Aaet & foraH TgRal 4 € |

@n faerfs= € dorr < aw@ @) faerfim v dor < a@
@) faerfg v qem € (@) dig da

The polymerase chain reaction-

(A) Is used to transcribe specific genes

(B) Amplifies specific DNA sequences

(C) Uses a DNA polymerase that denatures a 55° C
(D) Is a method for sequencing DNA
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48.

49.

50.

GRS ST I ¥fhar |

(@) fafrs <9 @ orera 2 Ugad il 2 |

@ ffrs QAT ogHH & yae # uygad gl 2 |

() B9 SIYAY UleiFNel &I B H ol 8 9 55°C WR fdad &1 ST 2 |
(@) SNTAY IHAVE B UH AR 7|

Which of the following is best method to determine bacteriophage concentration in a

sample?

(A) Spectrophotometry (B) Plaque assay

(C) Copy assay number (D) Light microscopy

T SR H SErHIsl &1 |igdl S H 5g 994 6] Al 572

(31) ISR @) wife SMHYA

(@) wfafer™ Ao G (@) vmTe geAgEl

Most common type of Gel used for DNA separation is-

(A) Agar (B) Polyacrylamide

(C) Agarose (D) all of the above

SIUAY. QIR & ol AT Wad ofdl 2 |

(31) SR (@) dfegfhess

M) TR () SR aH

Restriction enzymes are also called-

(A) Molecular knives (B) Molecular scissors

(C) Molecular scalpels (D) All of these

REFITT T8 Hed o |

(31) omuTad =M @) ormuifds b

(|) 3urfad haud (@) SWRaad a4
0o
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